C:h Checking Division Answers Name:

Check each answer. Determineif theanswer is'correct' or 'not'. Answers
7 Division problems can be 263+ 8=3217 182+ 6=2915
checked by multiplying the 30 29 1
guotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1 % WIE
1) 770-6=128r5 2) 564+7=280r4 4
5.
6.
3) 463+4 =115 4) 451+3=56r3 "
8.
9.
10.
5 997+4=249r1 6) 130+6=21r2
7) 317+5=63r12 8) 640-9=71rl
9 412+8=51r4 10) 201+9=33r3
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Checking Division Answers Name:. Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263+ 8=3217 182+ 6=29r15 \
checked by multiplying the - 29 1 not
guotient by the divisor and then 6
adding the remainder. x 8 a
256 174 2. correct
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179% / 3 not
1) 770:6=12815 128 2) 564:7=80r4 80 4 ___ ot
x 6 x 7 5. correct
768 560
+ 5 + 4 6. not
773 564
7. correct
3 463+4=115 115 4 451+3=56r3 56
x 4 x 3 g  correct
460 168
+ 0 + 3 9. correct
460 171
10. not
5) 997+4=249r1 249 6) 130+6=21r2 21
x 4 X 6
996 126
+ 1 + 2
997 128
7) 317+5=63r2 63 8 640-9=71r1 71
x 5 x 9
315 639
+ 2 + 1
317 640
9 412+8=51r4 51 10) 201+9=33r3 33
x 8 x 9
408 297
+ 4 + 3
412 300
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